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IUND J. L curlFdudv 57080 NX 2WNY Y15 DPIVD LIV YHINYN

Ny X2 + Y2 + 22 =4 nannwnw noon Y ponn NN S YF (X, Y, 2) = (Xz, yz, Xy)
X =Y MW vym x° + Y2 =1 mxnwnw Y90 ina
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P(x,y)=yf(x-y),Q(x,y) = xf(x-y) DY L NN TIIPND f:R—>R oM

MTIPIND NN 92 M) DV 5Y PMSP NYY TR Noya noon » :[a,b] — R? >nn
DMV DN DY MTIPINY 1IN,y PN HY IN X DY Oy Mxym (D) 14(a)

Anwn 1w NN F = (P,Q) >y R? Sy 9Tmn »MMupn nTwnw nxIn LN
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nrnY f 5w oo NN VTR, f IR > R HAN0NNT INPNS YMN2
.Af =div(Vf)

> 72 PO N

.A(fg) = fAg + gAf +2(VT -Vg) »>non.a

wan N ¥ F(Xy) = (2y,—6x—sin?(y?)) qwno I Fdr 510»x0 NN 2wn )
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99PN IS, (X=1)% +(y+2)% =100 AxNWHR >y PIIN SI9NN SW PNINNN
(MO WX (... TY) OINNNY 7Y 20 OW) . YYin
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CR" 2 n¥1p Hv nvIdN AN N
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,T(e) = z ie; >VIMLDN ©IVIAN LY M TN NP NPIYN T 1 R" - R" »nn a
i=1

T(e))=Y e, j=1.n970 T(e,) =) ie
i=h

i=2
A= {(xl,...,xn) e R x|+ x|+ Xl x| Sl} nm
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ON (—=1,0) nMiPINn WIN YOP PON GONY DTN DHVN HW 1POYN 8NN IR Ca 19D N

awn . a = 3y*dx + 6xydy Non PoY H90 Non manw 7o C TN ¥ pvn . (L,0) nTpan
DO Y TPUYIY NTIAYN NN

y(t) = (cos2t,sin2t,t)  »:[0,27] = R> NMIPYN HW NN NN 2WN .2

Moo ¥(t) = (cost,sint,2t) vy mymn ¥ :[0,27] = R nmpyn Sy N SN )

Xy, 2)=x+y+z oy mymmn f iR R ypnon Yy
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¥ NLYN NN L n,dydz —n,dxdz + n,dxdy I~ .S 5w pPwnn MW NN NN ,S

D YT TY ,NOYNN
V- (VxF)=0 wF:R° > R oxa
Anwn nTwnax curl (F) =0 oxy mosa pooop e F iR — R ox
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